EE+AAEHREAREXE S EEAM

(1996. 6 —2002. 1)

3 e
N

B B
B RADK F 8 kM



L DHERERIBEAZSRA

-

ST
T |

W RE

i

§ %%% s

\\\\\\\\\‘\

B XATEF R B




BHER&E (CIP) BB

FidE K2 H AR RE TR 5 4. —t
W ERITBCEER R, 2002. 2
ISBN 7 - 80140 - 212 - X

I 0. #... . %E-BE¥K - KEE
-8 V. H310.42

o A B B4 CIP BB (2002) 465 007142 5

BEXFEXBAZEREERN
< #w FH FH
B 2 A7 BU¥E B H RRAL s RRR AT
EETBERKEERK 65
1B B 45 75 - 100089
K ATHR 1 : 68929098
FEBIESS
R EEKBREER) DR
850 x 1168 1/32 FFZ4= 13.25 ik 360 FF
200242 HE 1R 200242 A% 1 KEIRI
ISBN 7 - 80140 - 212 - X/H-42 E#}:13.80 7t




B

T

S ERFTGEANE T B F A B B A AR — R KR

PRAEAL I, R T RIEE % I, U R A W KA M —FK P
Wik, BEEGRAET EBRBTZNMA, ¥ RENSMAEE
RINBAEBE . Bl FARERRGPLREE , BARNAL, %

A B RIS X, DABCE A XS RS FIE A A, i,

BELRXRRAGOAR ., REWH LARPAEE R m B,

BRZFEXE R R 558 IR R A2 50 , Tkl /2 L b % A
o FHXTX—1E0L, WAVFRA % A BB O A P 4% K B %

A, FEE A IR , RN RSB AN R R AT ) — 3.

. ABSHEAZHERBML, EPALUT =M.

— EABRET M 1996 4] 2002 4F, B4E 1 A6 A L%
EHLMFEE

B, 3+ 2 F TR R, S SRR R = A

SLEABHAE A LB RS, AL R EHRERER

= 6 BT 2 E LA, BB E & AR R
AEHLER ERBETIR. 55 05 S, E.

2 HIEKF .

WMEFBHHNRFRT KB EBELNABHET, SEA
AR EH, FRE—MIERFE I FENFISE HEREA



AR BRI T K BT ST LS, RN S g8
BHHREL T 4 E ‘
' A B, BB E . B AR 2

G4 B
20242 H



CONTENTS

Part One Original Tests(ZEIKB) ---oovemmerereemmnnnen (1)
1996 4F 6 H KB TIBEAR TR, -ocvevrmrreeimrnn (1)
1997 451 B R2BETIENRIE TR, rooovvvrrrerenrennin. (20)
1997 £ 6 A KEBEBIBAEIG, -ovocrrremrrerenenes (39)
1998 4 1 H jgégéﬁigf;g&%‘ﬁg ................................. (58)

C 1998 4E 6 S KEETEIE NI IR, oo, (78)
1999 4F 1 A KEEBIBE ARG <-ovvrvmemmrrmermeeneeraneennns (98)
1999 4F 6 H KB IBAGIIR - ovrremrreieeme (118)
2000 4E 1 A KBETRIE NP - oeervrrmmrrreninenns (137)
2000 %6 A j(%jéi%f\‘é&%ﬁt ................................. (155)
2001 4 1 H KEBAB ARG IR - vvvemmmermmmmnssmmesnneseens (175)
2001 4F 6 A KB IE R IR - oveeerrrrrreeen, (194)
2002 4E 1 A KBBEIEA DAL vveerrmmrrmeemmnnssinnnenns (213)

Part Two Keys and Notes(Z R S#HT) -----oeoveeee (231)

o 1996 4F 6 F REFEFABENE IR oo (231)
1997 4E 1 A RBEHIESHE R oo (243)
1997 4F 6 F KEEFIBAGLILIR - -vrvervrrrrerereeeneanmmnnnns (254)
1998 £ 1 H RKAFFGERE IR - orereerremerrmenenenee, (267)
1998 4E 6 A KEEHIE N F iR - ovvvrvrrermrmraroraeneninn. (277)
1999 4E 1 B R BEBE ARG TR - ovevvrrermrererie, (287)
1999 4E 6 H KAEBIEA LI IR vvvrrrrrerrererrmmssmossinnnens (293)
2000 4 1 H REEFIE S E - -oorvrrrrrrerrmrrrennnnens (301)
2000 4E 6 H KEFFIE IS IR - oovvrvrerrrrmeerrirenieen, (314)
2001 4E 1 H RBHE NG IR oo ovvvrrerrvmrmmerremnnnnnns (327)
2001 £E 6 H KRB NI IR - omerermmmrerereeen, (341)

2002 £E 1 HREEBIB NI IR - -orverrreomernrererecnnnnnnn, (352)



Part Three Tapescript( ﬂﬁj‘]ﬁ*ﬁl.) ........................... (362)

1996 4F 6 H RZETAB NI IR - oovvvorremmmrrerrmrmeereneees (362)
199741 A FEFHBE NI - orvvereermrermeremerreeeeees (366)
1997 4 6 B FEEBITB ISP R, -+ veerveeereemessnsennens (370)
1998 4 1 H K BEHTEAN IR v veeeereereeemeesmmsemnnennnes (373)
1998 4F 6 H KB /SGL R -ooevverrerrrrmermmeresrenees (378)
1999 4F 1 JJ KEEBIBAGILIR - veeerreeseeeersmrmemnsennes (382)
1999 4 6 H i%ﬁ%ﬁﬁ%ﬁﬁ ................................. (386)
2000 4F 1 B KEEBTENRGEIGIR -vveeeveereerssesnessnsnnnns (388)
2000 4E 6 J FREBTE NG TR -+-veereereerreresmsmenenees (392)
2001 %1 A KAEPB S GG T o oeermverrmmmrremerrnemeeeees (396)
2001 5 6 REYETE NG o oerremmmeerremeremmeseeeees (399)
20024 1 8 KB BB IRIFLR o vvevrmrerrrmemeerereeee (403)




Part One Original Tests( £ Eif# )

1996 £E 6 A KRFEFEEARFEIR

xR & —

Part | Listening Comprehension (20 minutes)
Section A
Directions : In this section, you will hear 10 short conversations. At the end
of each conversation, a question will be asked about what was said. Both
the conversation and the question will be spoken only once. After each question
there will be a pause. During the pause, you must read the four choices
marked A), B), C) and D), and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through
the cenire.
Example: You will hear :

You will read:A) 2 hours. B) 3 hours.

C) 4 hours. D) 5 hours.

From the conversation we know that the two are talking about some work
they will start at 9 o’clock in the morning and have to finish at 2 in the
afternoon. Therefore, D) “5 hours” is the correct answer. You should
choose [ D] on the Answer Sheet and mark it with a single line through the
cenire .

Sample Answer [A][B][C]{P}-
l.Al3 To change the tennis shoes in the sportswear department.
B) To help his friend find the right department.
C) To find his lost shoes on the tennis court.

D) To buy himself a pair of tennis shoes.

—_1 —



2.A) They produce part of their own food.
They sell their own produce.

C) They feed their family on cheap food.

D) They buy food from farmers.
3.A) Mr. White’s reason for leaving.

B}, Mr. White’s new appointment.

\(j/A vacant position.

D) How to apply for a job.
4.A) Be hostile to Nancy. B) Ask Nancy to come out.

sz Talk to Nancy herself. D) Write Nancy a letter.
5.A) To serve as her tour guide.  B) To serve as her bodyguard.

C) To serve as her driver. D) To serve as her porter.
6.A) He is often asked 1o go and see exhibits.

B) He would like to go and see the exhibit.

C) He went to see the exhibit last year.

D)‘) He definitely does not want to go.
7.A)\/The environmental problem. B) The healthy problem.

C) The educational problem. D) The international problem.
8.A) Bob will see Susan tomorrow evening.

B) Bob might be at home late tomorrow evening.

C) ‘Bob and Susan have decided to go on a holiday.

D) Bob asked the woman to come another time.
9.A) They think cinemas are too far away from their homes.

E)j They are disappointed with the films produced these days.

C) They both dislike films about adventure stories.

D) They both like the idea of going to the cinema at night.
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Section B

Directions: In this section, you will hear 3 short passages. At the end of
each passage, vyou will hear some questions. Both the passage and the
questions will be spoken only once. Afier you hear a question, you must
choose the best answer from the four choices marked A), B), C) and D).
Then mark the corresponding letter on the Answer Sheet with a single line
through the centre .

passage One )
Questions 11 to 14 are based on the passage you have just heard.

11.A) Because he was a cook at a country-music club.

C
D)Because he liked singing better than cooking.

B§ Because he performed for guests while he worked as a cook.

Because he often sang while cooking.

12.A) His brother. B) His manager.

C) Mis father. D) A businesswoman.
13.J;\‘t a club. B) On a fam.

C%At a counstruction site. D) In a record company.
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14. A} His ability to live independently.
B) /His sense of responsibility in whatever he did.
CQHis courage in the face of rejections.
D) His hard work in his early days.

Passage Two
Questions 15 to 17 are based on the passage you have just heard.
15.A) How to handle spiders. B) Spiders in the United States.

C), People’s fear of spiders. D) A special kind of spider.
16. QgMost spiders will not bite even when handled.
\Most spiders are poisonous and dangerous.

C) Most spiders are likely to attack people.

D) Most spiders have sharp eyes.
17.A) Because she cannot find a husband for herself.

B)sBecause the female spider is larger than the male one.

C ))Because the female spider often eats her husband.

D) Because she is a black female spider.

Passage Three
Questions 18 to 20 are based on the passage you have just heard.
18. A) Instructions. B) Medicine.

C)j Money . D) The draft of his speech.

19.A) Because she had to type Mr. Bascomb’s speech.
B) Because she had a headache.
C) Because she had to meet some businessmen.
D) Because she had to get her car fixed.

20. A7 The problems of the city.

B) Hjimself and his problems. '
ings he had planned to say to his audience.

D) The plan for his future work as mayor.



Part I Reading Comprehension (35 minutes)
Directions: There are 4 reading passages in this part. Each passage is
Sfollowed by some questions or unfinished statements. For each of them there
are four choices marked A), B), C) and D). You should decide on the
best choice and mark the corresponding letter on the Answer Sheet with a single
line through the cenire .

Passage One ﬁ ‘z
Questions 21 to 25 are based on the following passage: ¢

Three English dictionaries published recently all lay claim to possessing
a “new” feature. The BBC English Dictionary contains background
information on 1,000 people and places prominent in the news since 1988;
the Oxford Advanced Learner’s Dictionary: Encyclopedic ( B %2 45 )
Edition is the OALD plus encyclopedic entries; the Longman Dictionary of
English Language and Culture is the LDOEL plus cultural information.

The key fact is that all three dictionaries can be seen to have a
distinctly “cultural” as well as language learing content. That being said,

Qtslglgwgy imW approach the cultural element is not identical, making
direct comparisons between the three difficult.

While there is some common ground between the encyclopedic/ cultural
entries for the Oxford and Longman dictionaries, there is a clear difference.
Oxford lays claim to being encyclopedic on content whereas Longman
distinetly concentrates on the language and culture of the English-speaking
world. The Oxford dictionary can therefore stand more vigorous scrutmy('%’
%)L,) for cultural bias than the Longman pubhcatlon because the latter does
not hesitate about viewing the rest of the world from the cultural perspectives
of the English-speaking world. The cultural objectives of the BBC dictionary
are in turn more distinct still. Based on an analysis of over 70 million words
recorded from the BBC World Service and National Public Radio of
Washington over a period of four years, their 1, 000 brief encyclopedic
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entries are based on people and places that have featured ( 5 BEHAL) in
the news recently. 1'31‘11(:7 intended user they have in mind is a regular listener
to the World Service who will have a reasonable standard of English and a
developed skill in listening comprehension .
¢ ; In reality, though, the BBC dictionary will be purchased by a far wider
raﬁge of language leamers, as will the other two dictionaries. We will be
faced with a situation where many of the users of these dictionaries will at
the very least have distinct socio-cultural perspectives and may have world
views which are totally opposed and even hostile to those of the West.
Advanced learners from this kind of background will not only evaluate a
dictionary on how user-friendly it is but will also have definite views about
th(; scope and appropriateness of the various socio-cultural entries. }
21.What feature sets apart the three dictionaries discussed in the passage
from traditional ones?
A) The combination of two dictionaries into one.
B) The new approach to defining words.
@ The inclusion of cultural content.
D) The increase in the number of entries.
22. The Longman dictionary is more likely to be criticized for cultural
prejudice because
A) its scope of cultural entries goes beyond the culture of the English-
speaking world
B) it pays little attention to the cultural content of the non-English-
speaking countries
Q) it views the world purely from the standpoint of the English-speaking people
D) it fails to distinguish language from culture in its encyclopedic entries
23.The BBC dictionary differs from Oxford and Longman in that
A) it has a wider selection of encyclopedic entries
B) it is mainly designed to meet the needs of radio listeners

_6_



C) it lays more emphasis on language than on culture
Q) it is intended to help listeners develop their listening comprehension skills
24.1t is implied in the last paragraph that, in approaching socio-cultural
content in a dictionary, special thought should be given to
A) the language levels of its users
B) the number of its prospective purchasers
C) the different tastes of its users
1)) the various cultural backgrounds of its users
25. What is the passage mainly about?
@/ Different ways of trggtj_r}'g,_sgqigrgulnmal elements i the three new
English dictionaries .
1:3)) A comparison of _pjog)_lg’s opinions on the cultural content in the three
new English dictionaries.
C), The advantages of the BBC dictionary over Oxford and Longman.
D):The user-friendliness of the three new English dictionaries,
Passage Two
Questions 26 to 30 are based on the following passage:
i Real policemen hardly recognize any resemblance between their lives
and what they see on TV. : o

The first difference is that a policeman’s real life revolves round
criminal law. He has to know exactly what actions are crimes and what
evidence can be used to ’prove them in court. He has to know nearly as
much law as a professional lawyer, and what is more, he has to apply it on
his feet, in the dark and rain, running down a street after someone he wants
to talk to. '

Little of his time is spent in chatting. He will spend most of his
working life typing millions of words on thousands of forms about hundreds of
sad, unimportant people who are guilty of stupid, petty crimes.

. Most television crime drama is about finding thé criminal: as soon as
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he’s arrested, the story is over. In real life, finding criminals is seldom
much of a problem. Except in very serious cases like murders and terrorist
attacks litile effort is spent on searching.

7 Having made an arrest, a detective really starts to work. He has to
prove his case in court and to do that he often has to gather a lot of different
evidence.

: At third big difference between the drama detective and the real one is
the unpleasant pressures: first, as members of a police force they always
have to behave absolutely in accordance with the law. Secondly, as
expensive public servants they have to get results. They can hardly ever do
both. Most of the time some of them have to break the rules in small ways.
" Kthe detective has to deceive the world, the world often deceives him.
Hardly anyone he meets tells him the truth. And this separation the
detective feels between himself and the rest of the world is deepened by the
simple-mindedness — as he sees it — of citizens, social workers, doctors,
law-makers, and judges, who, instead of eliminating crime, punish the
criminals less severely in the hope that this will make them reform. The
result, detectives feel, is that nine-tenths of their work is re-cat]:hing people
who should have stayed behind bars. This makes them rather cynical (1S IEAR
).

26. A policeman has to be trained in criminal law because
é\% he must work hard to help reform criminals
B) he must behave as professional lawyers do
C) he must be able to tell when and where a crime is committed

\g) he must justify the arvests he makes of criminals

27.What is the most suitable word that describes the work of a policeman
according to the passage?
X)), Dangerous . B) Demanding.

) Distressing. D) Dramatic.
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28. According to the passage, policemen spend most of their time and efforts

A) patrolling the street, rain or shine

B) tracking and arresting criminals

@ collecting and providing evidence

\D) consulting the rules of law
29. What’s the policeman’s biggest headache?

.@)/He has to get the most desirable results without breaking the law in

any way.

B) He has to justify his arrests while unable to provide sufficient

evidence in most cases.

£) He can hardly find enough time to learn criminal law while burdened

with numerous criminal cases.

L), He has to provide the best possible public service at the least

possible expense.
30. Why do policemen feel separated from the rest of the world?

A) Because they do not receive due support from society .

B) Because they find people insincere to them.

wW "/Because they feel superior to simple-minded people around them.

. B) Because they are suspicious of the people around them.
Passage Three
Questions 31 to 35 are based on the following passage:

" To live in the United States today is to gain an appreciation for
Dahrendorf’s assertion that social change exists everywhere. Technology, the
application of knowledge for practical ends, is a major source of social
change.

/. Yet we would do well to remind ourselves that technology is a human
creation; it does not exist naturally. A spear or a robot is as much a cultural
as a physical object. Until humans use a spéar to hl;l_: game or a robot to
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produce machine parts, neither is much more than a solid mass of matter.

For a bird looking for an object on which to rest, a spear or robot serves the

purpose equally well. The explosion of the Challenger space o shuttle (Hk i %

SR KHL) and the Russian nuclear acc1dent at Chemnobyl drive home
T ——

the human W they provide cases in which well | -planned

oy

systems suddenly went haywire (ZE15IE#.) and there was no ready hand to
set them right. Since technology is a human creation, we are respons1ble for
what is done ME}MI it. Pessimists worry that we will use our technology
eventuaﬂ;:gwi)wi;w our world and ourselves to pieces. But they have been
saying this for decades, and so far we have managed to survive and even
flourish. Whether we will continue to do so in the years ahead remains
uncertain. Clearly, the impact of technology on our lives deserves a closer
examination,

% Few technological developments have had a greater impact on our lives
than the computer revolution. Scientists and engineers have designed
specialized machines that can do the tasks that once only people could do.
There are those who assert that the switch to an information-based economy
is in the same camp as other great historical milestones, particularly the
Industrial Revolution. Yet when we ask why the Industrial Revolution was a
revolution, we find that it was not the machines. The primary reason why it
was revolutionary is that it led to great social change. Tt gave rise to mass
production, and, through mass production, to a society in which wealth was
not confined to the few.

4 In somewhat similar fashion, computers promise to revolutionize the
structure of American life, particularly as they free the human mind and
open new possibilities in knowledge and communication. The Industrial
Revolution supplemented and replaced the muscles of humans and animals
by mechanical methods. The computer extends this development to
supplement and replace some aspects of the mind of human beings by
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